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math, matplotlib.pyplot, numpy, operator, processing, pygal,
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1 import turtle

2 1t = turtle.Turtle()

3 t.goto(0,100)

4 t.goto(100,0)
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import turtle
= turtle.Turtle
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¢ > mainpy +12 B Result i=In

import turtle
t = turtle.Turtle()
~ for i in range(5):
t.forward(100)
t.right(170)

oNOOUVT A WNERE

=

13


https://trinket.io/python/895c3ea5b6

® trinket DIRDR—=>%Z FH < {
https://trinket.io/python/0d8dbc1139 |

@ $4T%i%73\, IRDKDICRIREINDC & =R
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1  import turtle
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age DEN 11LF — 500
128l F  — 1800

age = 18

if age <= 11:
print(500)

else:
print(1800)
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A NEFIBLELS o
http://www.pythontutor.com/ if (x> 20):

print("big”
else:

- Web D S5OY%={FE>Tr7ot grinﬂ”smal

w = s =
ACED for i in [1, 2
S =8+ |
“ print(s)
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® [Pythonl Z20Uwv0 = {REBENDFH <

Learn Python, JavaScript, C, C++, and Java

This tool helps you learn Python, JavaScript, C, C++, and Java programming by visualizing code execution.
You can use it to debug your homework assignments and as a supplement to online coding tutorials.

Start coding nofy in Python, JagaScript, C, C++, and Java

Over 15 million people in more than 180 countries have used Python Tutor to visualize over 200

million pieces of code. It is the most widely-used program visualization tool for computing education.

You can also embed these visualizations into any webpage. Here's an example showing recursion in Python:
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Python debugger - pdb interface to Python Tutor - Learn Python by visualizing code (also debug JavaScript, Java, C, and C++ code)

wnte cove | mmzs <] | Python 3.6] (C71&D> TS

I54%
(O L ZESZRMRIDICENTES)

o . =/ - A3 ~
‘ Visualize Execution ’ ;é,f—_"@ 7?_ &Dd)/ | \9 —
hide exited frames [default] v [Tnline primitives, don't nest objects [default] V]

[draw pointers as arrows [default] V]

Show code examples

[Generate permanent Iink] {
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Write code in | Python 3.6 v

Python 3.6

— x = 100
Edit this code
executed
xecute

<< First < Prev Next >
Step 1 of 1

‘ Visualize Execution ‘

(1) [Visualize Execution] Z=72 (2) TLast] #2oUw 2.
Uw O UTCETHE(CIDERD

Python 3.6
(known limitations)

Frames
x = 100
line that just executed

x 100 =) next line to execute

, _ (4) [Edit this code] =72
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Python Tutor: Visualize code in Python, JavaScript, C, C++, and Java

Python 3.6
(known limitations) Frames Objects

=1 x =100

[ You just fixed the following error:
Edit this code B k- 100!

line that just executed
== next line to execute

<<First| (< Prev| [Next>) (Last>>) SyntaxError: invalid syntax (<string>, line 1)

Please help us improve this tool with your feedback.

B Step 1 of 1 What misunderstanding do you think caused this error?
Customize visualization ‘ ‘

| Subm@| | Close| Mde all of these pop-ups
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[please wait ... executing] MESE, 1 0FIFEFD.

Python Tutor: Visualize code in Pytht

I Please wait ... your code is running (up to 10 seconds) I
Write di Python 3.6 v

rite code In
1 k - 100
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2Ty TETICEY, Py T OKRFEERE

Python 3.6 Print output (drag lower right

X TD | age = 30
7[(%%%/_7—\’; ) if age <= 12:
3 pr int (500) Frames
%ED ! else:
| r Global frame
- 5 print (1200)

age 30
Edit this code

- EHOED
D Enlb\%fgé

| << First | ‘ < Prev ‘ NEX£> Last >>

Step 3 of 3

2Ty TEITIL.
RV PR TAX—Tay bA—IL
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@ Python Tutor Z{EL\ZLNDT, RD URL ZH <

https://www.pythontutor.com/

® [Pythonl] Z0UwD = AL > EHHFH <

Learn Python, JavaScript, C, C++, and Java

This tool helps you learn Python, JavaScript, C, C++, and Java programming by visualizing code execution.
You can use it to debug your homework assignments and as a supplement to online coding tutorials.

Start coding nofy in Python, JagaScript, C, C++, and Java

Over 15 million people in more than 180 countries have used Python Tutor to visualize over 200
million pieces of code. It is the most widely-used program visualization tool for computing education.

You can also embed these visualizations into any webpage. Here's an example showing recursion in Python:

PRI P
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I ANND

age = 18

if age <= 11:
print( 59@)\ if (age <= 11)DERIC [:]

elsese else‘d)l_ﬁ?ﬁlf. H
print(1800)

Ul A W N =

FFIFHIEREIC!
print DEJIC, [X 7 (Tab)] & 127F | 30
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1 age = 18 1 age = 18

2 1f age <= 11: 2 1f age <= 11:

3 print(500) 3 print(500)

4 else: 4 else:

5 print(1800) 5 print(1800)
IELLBWETIF IEL WL

[del¥F — | & & EL
ANINSY =SS
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Python 3.6 Print output (drag lower right corner to
known limitations 1800

age = 18

if age <= 11: Frames Objects

print (500)

else: Global frame
print (1800) age 18

Edit this code

acuted
e EEESN)

11800] 7= HERY
[<< First] [< Prev] Next >

Done running (3 steps)
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Python 3.6
known limitations

age = 18
I age <= 11:
print (500)
else:
print (1800)

Edit this code

executed
xecute

Prev | | Next > Last >>
Done running (3 steps) 33
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Python 3.6
known limitations

=) | age = 18
i age <= 11:
print (500)
else:
print (1800)

Edit this code

ecuted
cute

<< First | | < Prev | Next > | Last >> |
Step 1 of 3 34
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Python 3.6
known limitations
age = 18
. — if age <= 11:
%&;5 irint(SOO)
21-.|'Eb\‘5 ShE/\ else:
SV 9FBDECA - or int (1800)
Edit this code
xecuted
acute

<< First | | < PreLast >>
Step 30 3 5
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Python 3.6
known limitations

age = 18
— I age <= 11:
print (500)
else:
print (1800)

Edit this code

line that just executed
=) next line to execute

Step 2 of 3
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Python 3.6
known limitations

age = 18
I age <= 11:
print (500)
else:
print (1800)

- executed
axecute

[<< First] [< Prev] Next > Last >>

Done running (3 steps) 37
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* input (&, F—iR—

55X ENET—F (XF51)

%, Enter F—hMHETNB X THAAD.
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e trinket MFIFH

* input

e print
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https://trinket.io/python/bdca234a3e e
=/, 1 print("teiken =")
@ 9%'?73_5 o 2 ;': ht?-':a:l tii)p t())
4  tak float(input())
5 print(“teihen * takasa / 2 teih takasa / 2)

@A FDOHEMET 3 Enter +—

Powered by Jtrinket
teiken =

| |
@ ATDHEMEmT, %7 TS5Enter F—

Powered by JPtrinket
teiken =

takasa =

2 |
® FEERD 7.5 HHESD

Powered by  Ptrinket
teiken =

takasa =

® 3AOmBEERDDIITOVSLTHD. LWAWAH LT
HED.
42


https://trinket.io/python/bdca234a3e

@ trinket DIRDR— 7% <
https://trinket.io/python/3b490869e4
@ E179 D,

@ A TFDHEMET 3 Enter F—

Powered by ¢ Ptrinket
r =
3

@ FEERD 28.26 =HESD

Powered by Jtrinket
" =

('r * p * 3.14 ="', 28.26)
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P e oA P
1 print("r =")
2 r = float(input())
3 print("r * r * 3,14 =", r * r * 3.14)

® MAERZE 3.14 £UT, ¥FEHhSHDmEEZRDSDIT O

JLTHD. LWASWASEUTHEKD.
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100*1.1
. def foo(a):
150*1.1 M) arl.l ) return a * 1.1
. HRIE ==z
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B E U TCER

(Fl =2)
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o] FeEom
Od— FORFEE
HSRIGAL:
pricel =100*1.1
price2 =150 *1.1
price3 =400~*1.1
SRR
def foo(a):
returna * 1.1
pricel = foo(100)
price2 = foo(150)
price3 = foo(400)
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B] 5 EdDm_E

HRALED:
pricel =100 * 1.1
price2 =150 * 1.1
price3 =400 * 1.1
R
def foo(a):
returna * 1.1
pricel = foo(100)
price2 = foo(150)
price3 = foo(400)

Palebuse Lok

@ I5—YRI DI
STERAZIEIZITELL 2. 51
J=ZRxEDEI NI SN
A

@ RFEDM L

Al ?HTb\lO%b\bS%(c_QEé
NneEigs BIE&ERRIEIH PRI

def foo(a):
return a * 1.08
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ESESWAGES

def foo(a):
return a * 1.1

C DEIZIDZAAE(S

[returna*1.1]

COBENE, X [a*1.1] (C, &8I foo ZAd
ITEEDEEZERDBCEETEDS
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Y T R
_ - 1+ def foo(a):
1 print(lee * 1.1) 2 return a * 1.1
2 print(150 * 1.1) 3 | print(foo(100
3 print(200 * 1.1) 4 | print(foo(150))
' 5 | print(foo(460))
AL UTEZRDON BEEIDERE SfER

Powered by “Jtrinket Powered by ' Ptrinket
110.0 110.0
165.0 165.0
220.0 440.0

EiTHaoR Elv,

TR (CD 55
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@ trinket MIRDNR—>% i <
https://trinket.io/python/68a090balbf

@ E(THaRN, ROKXD(CRRSND =R

: ¥ main.py + 2 3
1~ def foo(a): Powered by
2 return a * 1.1
3 print(foo(100)) 110.0
4 print(foo(150)) 165.0
5 Ipr*int(Foo(élBB)) 440 .0

57


https://trinket.io/python/68a090babf

2EARFELD .
0035 LAETDEE P ot
OBEEIT TOUSLAZERIINSREBE T EICET
c AFTYIRIT TO0 S L%1179 DETU. BMEZHIN <1BEFF
Python 000 S ADOEARIES
- BRDIRL: FFEDNIEZ 18
- XN T OO0 S LADRN & S
« AlA3: input()"CTAA. print) TR
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- BAYRERE: def F—DJ— RZFRA LU TCRICHBZDITS
f5]: def foo(a):
returna* 1.1
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